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The angle of elevation of the top of a..
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M.N. Rao maximum. Then this maximum given by numbers 1, 1 +d, 1 + 2d,..
area (in sq. units) is : DHi—-3j+3k 2)-3i—-3— k 100d from their mean is 255,
Senior faculty, 1 125 ) 125 N3i—j+k 4)i+3 -3k Then a value of d is
| Sri Chaitanya Educational 4 T 9. Areabounded by the curve y =(x | 13. The number of irrational terms in
institutions 3) 5 4) —1)(x—2) (x—3) and the x-axis 11\
4 _2" lying between the ordinates x = 0 the expansion of {5 3 +24 } is
4. The perpendicular distance from and x = 3 is equal to
MODEL QUESTIONS the origin to the plane containing 1 10 ) _? 14. Let f(x) be a function such that
. 2 y-2 z+45 4 fix=1) + fix + 1)=\2 f(x) for all
- the two lines - =~ """ =
1. For x>1, if Q0> =42 C O 57 3) - 4= xeRIf f(3) =5 then
o dy . x—=1_ y-4 z+4 . 4 10
then (1+1log,2x) - 18 equal to and T T 18 b9 1 2m S F(3+8r)=
10. If + + = then orth- r
1) log,2x 1 11 ) 611 19! 317! 515! n!
) xlog,2x +log, 2 Jo ocenter of the triangle having 15. Suppose that 20 pillars of the
X 311 4) 11/6 sides x—y +1=0, x + y+3=0 and same height have been erected
3) xlog,2x 5. The general solution of 2x +5y —2=01s along the boundary of a circular
4) xlog,2x —log,2 (y° +x) ay _ v i 1) 2m — 2n, m — n) stadium if the top of each pillar
X dx 2) (2m — 2n, n — m) has been connected by beams
2. The sum of the distinct real ; 3) 2m —n, m + n) with the top of all its non -
values of W, for which the B y?t X _y 4) (2m —n, n — m) adjacent pillars, then the total
AR A A A A ) xy=—~+c 2) —=—*c¢ . : : :
vectors,  1i+j+k, i+ j+k, i+jH k 4 y 6 11. An equation of the circle in number of beams is :
are co-planer, is: ) - which the chord joining the | 16. The angle of elevation of the top
1)2 2)0 3) 2y ) ve 4 X_y o 3) 156 4) 301 points (1,2) and (2,-1) subtends of a vertical tower from a point
3) -1 4)1 5 y 4 7 The value of ©2 1+2cosx S an angle of ™/4 at any point on A, due eastof itis 45°. The angle
3. Let P4, —4) and Q(9, 6) be tow 6. Let S, — 1+2+43+...+k 0 (2+cosx)” the circumference is of elevation of the top of the
points on the parabola, y* = 4x | g k -2 2)2 3) 1n 4) 4 1) X +y*-15=0 same tower from a point B, due
and let X be any point on the arc 2, o2 2 5 8. Leta=i+j+k b=i—-j+kand 2) X%+ y2 —6x-2y+5=0 south of A 1s 30°.If the distance
. . If Sl +Sz +“'+S10 ——A’thenA i ) ) ) .
POQ of this parabola, where O is 12 c =1 —j — k be three vectors. A 3) X+ y +6x+2y—15=0 between A and B is 5442 m, then
the vertex of this parabola, such 1s equal to vector v in the plane of a and b. 4) x> +y? = 2x—4y+4=0 the height of the tower (in
that the area of APXQ is 1) 303 2) 283 Whose projection on c is 1N3,is | 12.If the mean deviation of the meters), 1S ____
KEY & HINTS [—2]+k 8. 3; v=oa+Bb,whereo,,pe R _ y—2 y+1
( ) —1(x+2)=2(y=2)+1(z+5) =0 | | ——7 and slope of BP ==— f(x=2)+f(x)=y2f (x-1) )
L4 o) a2 x=2y+z+11=0 =v=(atB)i+(a+B)j+(atB)k Since they include an angle of Replace x by x + 1 in (2)
I 111 . .1 /4 so
2y0n2x = (nd+2x—2y W_JE Theproi]ectlonofvonmsﬁaso y+1 y-2 )+ (x+2)=y2f (x+1) 3)
1 c. : :
xein2 e (l+€n2x)—(x+€n2)x 5. 4 %_; —y* [F= ej ~Uydy _ Iy ||T|vI _ﬁ x;zi x}—Hl_1 =itan-Z —+1 Adding (2) and (3), we have
1+ (n2x (1+ n2x Y — 1+ s F(x=2)+fF(x+2)+2f(x)
_ Solis *—=—-+c o+PB)-(a+P)- (o + =J2f(x=1)+ f(x+1
e o K+ [t P2t B}:fs = (y+)(E-1)- (-2)(y-2) 2GS ()
X K+1 +
6. 1; Sx=—0 DSk =—" : =+[(x=1)(x=2)+ (y=2)(y+1)] =J2J/2f (x)=2f (x)
w11 =lo+f=1=a+B=1*I ., = f(x-2)=—f(x+2)
2. 3501 p 1/=0 10 5 _ _ :>3x+y—5:i[x +y —3x—y:| .
2 2> A = The only possible answer 1s(3)s Replacing x by x + 2, we have
1 1 u k= ki 12 | 2. 2 f(x)==f(x+4)
L2 =D -1u-D+11-pn)=0 10 2 2 a2 2 9. 1;req area j(x—l)(x—2)(x—3)dx<+ =x +y =5=0o0r B B
Bt o= 0 Z(K—1]=2 +3 4411 5 . 432 —6x—2y+5=0 =—(f(x+8))=f(x+8)
W —3u+2=0 K\ 2 4 12 ) 0
—1-3-1=0 x12x23 5, j(x-1><x-2><x-3)d+ 12. 10.1; Mean = 1 + 50d 2, f(3+8r)=11xf(3)=11x5=55
u=Lu*+u-2=0 6 3 I Sum of deviation about mean is r=0
p=lLp=-2 S 50.51d 20%17
505=-A= A =303 3 15. 170: b — =170
Sum of distinct solutions = —1 3 J(x—l)(x—Z)(x—3)dl< Md = 50x51d _ 555 » DEAS
3. 1; Q6] 7 3 JR/Z—H 2c05% dx 1 ' 101 16. 54; Let height of tower is h.
W' ’ (2+cosx) 10. 1; orthocentre for right angle is _255x101 _ ;
B (-2,-1) 2550
=J-(;t/22(COSX+2)2 3dx . 2 N 2 N 2" 1 1} 00 1 1 )00
: (2+cosx) Given 415" 317 s 13. 92; [53 +24 ={24 +53]
Y J Y J 1 N 1 N 1 N 1 N 1 _1’"
=2f = = 1L9! 317! 5L51 3171 119! n! YOO oy
(2+cos) (2+cosx) 1100 100 100 10! 10!] T..,="%C.|24 |53
+ + + +
5 10! 119! 317! 5150 317! 119! — 4
' -
_4 1 dt2—6jl 1+t2 di o r 3 EA E
% |1 0347 0(341%) ] =10¢ 27 453 W
1 125 (t =tan x/2) 1 For rational terms, 'r' should be :
_ o 6 1=22 — [1oc +10C, +10C, +10C, +10
Area = ol e _oftdt ot ol | divisible by 12. ¢
- 03417 0@3+1%)° o -.No. of rational terms = 9
== _ o = 0A=G
ik 1 n! ..No. of irrational terms 7
9 m — — 0 = OB =+ 3h
4 1B 5 7 —zjl dt 1 2_1 N 2 2" m=9 n=10 101 9. 92 o
i 0344 ’|23 (t +3) 10! n! 14. 55; The given equation is
0 - 2 2 2
11. 2; Let P(x, y) be any point on the Also OB” =0A” + AB
-1 1)=+2
_1(35 28) — ](21 7) +k(12 -5) N 1 Jl da _1 circle passing through A(l, 2) f =1t f (e D=v27 (3) (1) . )
=7i-14]+7k 23903442 2 and B(2, —1) the slope of AP Replace x by x — 1 in (1) =30 =1+ (54/2)° = h=54
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